0.2

gnal (V)
@

PID si
o
&

W

(o]
@
=3
3014y — — — — — — - 31'8
7] 1.6 .
=o12l - - — 5 | -
-
o 214 | i
o 01f — — — — — = Q12 1
g e FERIN
Soosf% — — — — — - £ T
7] . . 0.8
[l .
< 0.06 . 0.6
X0 50 100 0.5 1 1.5 2 0.5
E delivery time (min) first delivery pulse duration (s)
1
S 08
3
206
[s]
@
g o4
[=)
T 02
0
0 2 4 6 - 10 12 14
time (s)

gnal (V)

max response to first pulse

PID si

@

> Q

014y — — — — — — - 1.6 2 6 - ,
. L A
ool . S14 I ! i |
@12 I ! )
01f — — — — — — - 9] .
x 1 T
©
008} — — — — — — - Eos '
oosl™™ WL 06l
0 50 100 150 200 0.6 0.8 1 12 1.4 1.6 0 02 04 06 08 1
delivery time (min) first delivery pulse duration (s)
F 091 — linear fit \l/
0.8
So7
3 o6
g s
8 05
3
= 04
]
o 03
0.2
18 20 0.1
0
15 2

25 3
gas dilution

5 4
X10+



